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DSE-A-2.3
[Philosophy of Language (Western))
Full Marks : 65
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[ English Version ]
The figures in the margin indicate Jull marks.
1. Choose the correct option (any ten) : Ix10
(a) Which of the following is a conventional sign or symbol?
(1) Mathematical symbols (i) Ringing of bell
(i) Red light indicated the vehicles to stop (iv) All of these.
(b) Which one of the following sentences is used in the sense of effect?
(i) Smoke means fire (i) What is the meaning of your behaviour?
(iii) War means destruction (iv) Your act is meaningless.
(¢) Which of the following sentence has a figurative expression?
(i) ‘Valor’ means the same as ‘courage’. (i) What is truth?

(iii) The word ‘cat’ has three letters, (iv) T am above all that.
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Twilight is the period between day and night— this definition of “twilight’ is affected by the fallacy -
of being—

(i) Too narrow (i) Incomplete
(iii) Metaphorical (iv) Too wide.
Which one of the following words can be defined ostensively?

(i) Green (i) Mountain
(iif) Triangle . (iv) River.

The word, amongst the following, has meaning but no denotation is—
(1) Barren mother’s child (i) Mermaid
(i) Sky flower (iv) All of these.
Which of the following pair of words is not polar words?
(i) White-black (ii) Small-big
(iii) Bread-butter (iv) King-subject.

The criterion of sentence-meaning is—

(1) Ambiguity (ii) Vagueness
(i1} Truth-condition (iv) All of these.
‘All men are 25 feet tall.’— This statement is
(i) Self-contradictory (i) Meaningless
(iiiy Meaningful and true (iv) Meaningful and false.

‘Number 1 is red.”— This statement is meaningless because it involves
(i) Category mistake (i) Self-contradiction
(i) Untranslatable metaphors (iv) Meaninglessness outside a given context.
Which one of the following is the criterion of testability of meaning?
(i) Verifiability (i) Confirmability
(1)) (i) and (ii) both (iv) None of these.
The hydrogen atom has one electron.
(1) The above statement is verifiable.
(i) The above statement is confirmable.
(i) The above statement is both verifiable and confirmable.

(iv) None of the above.
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2. Answer in brief any five of the following questions : il

(a)

()

(h)

What according to IHospers, is the relation between a word and its meaning?
Explain with examples the process-product ambiguity and type-token ambiguity.
State any five meanings of the word ‘meaning’ with examples.
Explain in brief, with examples, the difference between defining characteristics and accompanying
characteristics.
What is definition by denotation? Discuss any three disadvantages of this definition.
Explain in brief, with illustration, .any two criteria for sentence meaning.
Evaluate the following definitions :

(i) Telephone is an instrument for communication.

(1)) Left is the opposite of right.
Are the following statements self contradictory? Justify your answer.

(1) The room is empty but full of books.

(i) Triangles are not three sided.

3. Answer any two questions :

(a)

(i) Distinguish between defining and accompanying characteristics with suitable examples.

(ii) ‘From defining X, you can draw no conclusion whatever about whether there are any Xs in
the world...” Explain.

(iii) Which of the following state defining characteristic and which state accompanying
characteristic?— Explain in each case.

(A) Steel is an alloy of iron.

(B) He is a good student, who scores highest marks.

(C) Axe is used for cutting.

(D) Man is a laughing animal. S+d+{1¥ax4)

(b) Distinguish between verbal and ostensive definition. Discuss the importance and limitations of

ostensive definition. 5+10

(c) Discuss the Referential theory of word meaning. Is this theory acceptable? Justify your answer.

10+5

(d) How do you distinguish between verifiability and confirmability as criteria of meaning? Explain and

examine the confirmability criterion of meaning. 3+12



